INSTALLATION INSTRUCTIONS
DUAL MOUNTING BRACKET SET
PART # 16701

D=EIALS

PERroIIMANCE

KIT CONTENTS

QTY. DESCRIPTION
8 M6 Square Nut Inserts
8 M6-1.0 x 12mm Washer
Head Hex Screws
2 Center Brackets
2 Right Hand Brackets
2 Left hand Brackets

IMPORTANT ®

Designed to fit Derale
Tornado Electric Fan series,
sizes 107, 127, 14” & 16”.

Left Hand Bracket

Center Bracket
Right Hand Bracket —

M6 Square
Nut Inserts

Fan Assembly (2)
Sold Separately

Right Hand Bracket

Center Bracket
‘7 M6-1.0 x 12mm

Washer Head
‘ Hex Screws

Left Hand Bracket —

&

1. Slide 2 (two) each M6 Square nut inserts into slotted openings into position in flat landings on each end of electric fan
assemblies as shown in lllustration.

2. Align long slotted holes in right hand bracket and left hand bracket with holes in center bracket as shown, then run 2
(two) each M6 x 12mm hex screws (per fan) through brackets and into M6 square nut inserts on fans. Hand-tighten only.

3. Repeat Step 2 on opposite side of fan(s) running M6 screws first through right and left hand brackets, center brackets
and are hand-tight on each side.

4. Place entire fan/bracket assembly on flat surface to “square up” assembly, then carefully tighten all four M6 screws
snugly. DO NOT OVERTIGHTEN. Dual Fan Assembly is complete.

Warning: Installation of accessories should only be undertaken by those with mechanical knowledge and are familiar with working on
vehicles. Always use eye protection (goggles, safety glasses or shield). Park the vehicle in a well lit area, on level ground and apply the
parking brake. Only work on a cold vehicle that has been sitting overnight, failure to do so will result in severe burns and injury. Before starting
the vehicle, make sure no tools or any other items are left under hood that could interfere with or be drawn into moving parts of the engine.
Failure to follow instructions can lead to severe damage and personal injury.

Derale Performance, Los Angeles, CA ¢ 800.421.6288 ¢ www.derale.com

16701-Dual-Mounting-Bracket-Set



